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OBOB'SAI3KOBI KOMIIOHEHTH
| OK1 C‘OHIaJ?LHa BIATIOBIAMbHICTS B TYPUCTHYHOMY | 120 40 14 6 3 106
Oi3Heci
2 OK2 [HHOBAIIIHI TEXHOMIOTIT B TypHU3Mi 1 120 4.0 14 6 8 106
3 OK3 MapKkeTHHT0Bi KOMYHIKaIlil B TypH3Mi 1 120 4.0 14 6 8 106
4 OK4 Typusmonorist 1 150 5.0 18 8 10 | 132
5 OK5 IuBinBbHU 3aXUCT B TYPHU3MI 1 120 4.0 14 6 8 106
6 OK6 VYrpaBiiHHSA SKICTIO TypUCTUYHUX HOCITYT 2 120 4.0 14 6 8 106
7 OK7 E‘KOHOMlKa PECTOPaHHOTO Ta FOTEIBHOTO ) 150 50 13 g 10 | 132
0i3Hecy

8 OKS8 bi3Hec-mnaHyBaHHS TYPHCTHYHOI iSUIBHOCTI 2 2 150 5.0 18 8 10 | 132
9 OK9 JinoBuii Typu3m 2 120 4.0 14 6 8 106
10 OK10 HaykoBi gocmikeHHS B TypU3Mi 3 120 4.0 14 6 8 106
11 OKl11 VYrpaBiiHHS IPOEKTaMU B TypU3Mi 3 120 4.0 14 6 8 106
12 OK12 TypucruuHa nomituka 3 120 4.0 14 6 8 106




13 OKI13 CraxyBaHHS 3 (haxy 270 9.0
14 OK14  |IlinroroBka maricrepcbkoi poOoTu 180 6.0
Pazom 9 13| 1]1980 | 66 |[180| 78 102 | 1350
BUBIPKOBI KOMIIOHEHTH
1 BK1 Jucrumutina 1 1 90 3.0 10 4 6 80
2 BK2 Jucrurmuiina 2 1 90 3.0 10 4 6 80
3 BK3 Jucrumutina 3 1 90 3.0 10 4 6 80
4 BK4 Jucrumutina 4 2 90 3.0 10 4 6 80
5 BK5 Jucrurmutina 5 2 90 3.0 10 4 6 80
6 BK6 Jucrurmutina 6 2 90 3.0 10 4 6 80
7 BK7 Jucrumutina 7 2 90 3.0 10 4 6 80
8 BKS Jucrurmiina 8 3 90 3.0 10 4 6 80
Pazom 8 720 24 80 | 32 48 | 640
Bcroro 2700 | 90 |260( 110 150 | 1990
KigpKicTh TOOMH Ha THKICHD
KinbkicTh ek3aMeHiB 9
KinbkicTh 3amikiB 11




